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Sample Question 1
Answer: 10, 11, 12

What are three positive consecutive Lavie 3l aTall g dim gall slact kil Sl

integers when product of the first and 2 s, JLY 0 e s 55
second is 2 more than 9 times the T el e e 9 T
third? A

First Integer [:] Jsl a3
Second Integer: [ ] &)l
Third Integer: [ ] 20 &
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Sample Question 2

Answer: B
For which value of m is the following agi Lg it 5 Ll Lo 05N o)
expression undefined? a8 ot M
15m°n
I-m
A \
| ! )
C. |I‘ _3 J
D. |" l:' l‘|
Sample Question 3
Answer: -15, -15
Solve the following system of equations Vs X o JS das an 1 i) ililaall Ja
for x and y.
Lo_
gXTgv=-5
——x+—=y=- 2
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Sample Question 4

Answer: A
Simplify. Ly
V=x
E: —VE
A7 -1 N
X4y
M A
B 7 1 ™
=y
M A
co 1 ™
xX=y
M vy
D 1 ™
X+y
M A
Sample Question 5
Answer: B
What is the sum of +/ 27 and+/ 1087 V108 527 rea lda sl
A7 ™
4 135
M A
. ™
B oy3
b A
- ™
¢ 33
b v
i ™
b 44427
b vy
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Sample Question 1
Answer: C

A rhombus has diagonals with lengths 16 NI y
and 30. 30 516 st Sl aa 2ol

What is the length of a side of the

?;_J_a.ajll = Thosah ol __-! _9.1:. _y'hl_a

rhombus?

A 16v2 |
° | 15y2 |
c. | 17 ‘|
b 34 |
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Sample Question 2

Answer: A
Identify the image of point (4, — 2) after a il ey (4, = 2) Akl 215595 5 e
dilation of 3. 34
A | (12, -6) |
B. [~ )
| (7, 1) |
c. )
| (1, -5) |
. *
3' 3
Sample Question 3
Answer: 40
The two triangles below are similar Lol 1 sl il iy
What is the perimeter of & POR? ¢ A PQR Clidl Line pla
Q
B
12 12
A C P R
6 8

Perimeter of £\ PQR :] O POR s
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Sample Question 4
Answer: 1181

A company makes aluminum boxes in JE o gt e e lie 38 50 0
the shape of a box with a half-cylinder Al et JET s 4l el e
top. = -
. b &5 g A%yl i
The company will make 1857 boxes 22501807380 &
this week. Lot
If each box has the dimensions shown Tmse s LS dadh gl _-.J Qs
below, how many square meters of sl Al dal il sl calioh Jully
aluminum will be needed to make these A8yl Lpalinio 1 ca gall jially A griafyl
boxes? e i diacli
Use 3.14 for T L
m13.14 st
Round your answer to the nearest R e

square meter

Total area of aluminum sheets needed: :] j,_a_.;g.d:‘x"- Cae g llaalt 3080

Sample Question 5
Answer: 30

Solve for x. X das ia gl

2%
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Sample Question 1
Answer: C

Aisha calculated the area of a piece of paper

to be 50.27 cm”.

The actual area of the paperis 55.42 cm?.

What is the margin of error in calculating the

I_,i_.lil _'é_)_g]ll L J._-n_-!=£ dalisg .J:..:.:II_E- ;L...;
50.27 cm’

55.42 cm? o @50 sl dggiall daliaal i )

area? Taalisall sda o 3 sl (Bl 3 s ol
A I 0.102 ‘
i I 0.103 ‘
“ I 0.093 ‘
. I 0.092 “
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Sample Question 2
Answer: D

A frequency table of temperatures is
created from an experiment in science

class.

S al e sl all S el g0 S e 085 4

_I:;.}ln_'lll [ .

Interval

0-9 10-19

20-29

30-39

('&_JIIJ;_'III} & '-"Ill

Frequency

13

s

Which interval contains the median

alallda e lay Jo g 0ad sl e L

temperature?

A | 30-39
B. |"’ 0-9
c | 10— 19
D. [ 20-29

Sample Question 3

3
Answer: —
7

A number is selected at random from the

set below.

What is probability that the number is even?
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Sample Question 4

Answer: D
.3 . . : - 3.
There is a c probability of rain on Sunday. anf g ol L i © llaiad Sl
The probability that it will rain on both 3 e
.3 e T s ) e ade st Agllaal
Sunday and Monday is —. 10

10

Loais Ll Agllaind Lo coni) oy sladics CailS 1)
If it rains on Sunday, what is the probability Haals L4 Mg paalo cud

that it will rain on Monday? Tl o
A [ 5
10
B. 7 q ™
50
C. 7 3 ™
10
D. [ 1 )
2

Sample Question 5

Answer: 74
Dina has scored 78, 59, 95, and 74 on .95 .59 .78 cla ol e i cilian
her last four tests. Ll day 5yl 274

What score does she need on her next

. J3l L ldal | s lealiad Allda ol ala
test so that her average is 767 Rl s 2 s S EEe

76 Sl Lelas sla mua]

Required score: [ ] au.lldias il
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